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#include <reg5l.h>

#define DATRZ FO
sbit RS = P2"0;
sbit EW P2~1;
sbit E = pP2"2;

vold delayiunsigned
i

nnsigned int i,
for (1 = 0; i «
for (3 = 0;

int time)

b
time; i++4)
d < 10; j++):

void lcd_cmd (unsigned char command)
i

RS = 0;

EW = 0;

DATZA = command:
E=1;
delay(S):

E = 0;

void lcd data (unsigned char dat)
{

RS = 1;

EW = 0;
DATZ = dartc:
E=1;
delay(5):

E = 0;

void lod init ()
i

1pd emdoxzay: /7 WERREDT A7, swrSE
delay (10);
void display number (unsigned int num)
{
nnsigned char thousands, hundreds, tens, ones;

thousands = num /S 1000;
hundreds = (num % 1000) / 100;
tens (nuam % 100) S 10;

ones = num % 10;

lcd data(thousands + '0'):
lcd data(hundreds + "0°");
lcd data(tens + '0');

lcd data(ones + '0%);

volid main ()
{

nnsigned int countc 0z

led init ()

while
i

(1)

At

lcd cmd (0xB80);
display number (count) ;

count++;
if (count > 95395)
count = 0;

delay (1000) ;
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#include<regs2.h>

$define duan PO

#define uchar unsigned char

sbit weil = p2~4; //ELEL

sbit wei2 = B2°5;//FE LE

sbit wei3 = P276;//EALFE

sbit wei4 = H

uchar code sz[17]={0x3f,0x06&,0x5k,0x4f, 0x€6,0x6d,0x7d,0x07,0x7£, 0x6£,0x77,0x7c, 0x39,0x5e,0x79,0x71,0x00};
E EE 17 E, FiEHES I EHMER

void delay (unsigned int xms)

{

nnsigned int i,3;
for (i=xms;i>0;i--) /7 i=xms B FETT xms
for (j=112;3>0:;3--):

wvoid main()

{

while (1)

{
duan = sz[7]:
weil = 1;
wei2 = 0;
weild = 0;
wei4 = 0;
delay (5); / /3T sms
duan =sz[4]:
weil = 0;
weiz = 1;
wei3d = 0;
weid = 0;
delay(5):
duan =sz[2];
weil = 0;
wei2 = 0;
weil = 1:
delay (5); // FEBT sms
duan =sz[4]:
weil = 0;
weiz = 1;
weild = 0;
wei4 = 0;
delay (5);
duan =sz[2];
weil = 0;
weiz = 0;
weild = 1;
weid = 0;
delay(5):
duan =sz[0];
weil = 0;
weil =
weil
weis4

/rEE

}






